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QUESTION NO: 1

What can you define in an SAP Fiori catalog?

There are 2 correct answers to this question.

A. Links

B. Target Mappings

C. Groups

D. Tiles

ANSWER: B D 

QUESTION NO: 2

Where does the SAP system organize the SAP Gateway services?

Please choose the correct answer.

A. Internet Transaction Server (ITS)

B. Internet Communication Framework (ICF)

C. Internet Graphics Service (IGS)

D. Internet Communication Manager (ICM)

ANSWER: B 

QUESTION NO: 3

Which of the following rules apply to the naming of CDS Views?

There are 2 correct answers to this question.

A. The data definition and the SQL view must have the same name.

B. The SQL view name can be up to 30 characters long.

C. The data definition name can be up to 30 characters long.

D. The CDS view and the SQL view must have different names.

ANSWER: C D 
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QUESTION NO: 4

You want to create a new CDS view VIEW1 that reads from CDS view VIEW2. VIEW2 has 2 input parameters, par1 and 
par2, with data type abap.char(10).

Which of the following is the correct way to supply the input parameters?

Please choose the correct answer.

A. select from VIEW2( par1 = IText1I, par2 = IText2I )

B. select from VIEW2( par1: IText1I par2: IText2I )

C. select from VIEW2( par1: IText1I, par2: IText2I )

D. select from VIEW2( par1= IText1I par2= IText2I )

ANSWER: C 

QUESTION NO: 5

Where do you distinguish between OData V2 or OData V4?

Please choose the correct answer.

A. Projection View

B. Service Binding

C. Behavior Projection

D. Service Definition

ANSWER: B 

QUESTION NO: 6

The root-node of a CDS-based business object is based on CDS View ZMY_VIEW. The persistent data is stored in the 
database table ZMY_TABLE. At least one key field of ZMY_TABLE has a different name in CDS View ZMY_VIEW.

Which kind of repository object is needed to map the fields of ZMY_VIEW to the fields of ZMY_TABLE?

Please choose the correct answer.

A. SQL View

B. Database View

C. Structure Type

D. Global Class
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ANSWER: B 

QUESTION NO: 7

You plan to migrate an SAP ERP system to SAP S/4HANA. Which of the following tasks are recommended but NOT 
mandatory?

There are 2 correct answers to this question.

A. Custom code evaluation

B. Performance tuning

C. SAP S/4HANA checks

D. Functional adaption

ANSWER: A B 

QUESTION NO: 8

Which of the following information do you get using the ABAP Call Monitor?

There are 3 correct answers to this question.

A. The number of calls

B. Business transactions that called ABAP objects

C. The protocol type used for the call

D. The ID of the calling user

E. The ABAP objects that have been called

ANSWER: A B E 

QUESTION NO: 9

The Entity Manipulation Language (EML) is an extension of which of the following?

Please choose the correct answer.

A. The ABAP Programming Language

B. The Structured Query Language

C. The Service Definition Language

D. The Behavior Definition Language
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ANSWER: A 

QUESTION NO: 10

You define an SAPUI5 application as the target in a target mapping. Which of the following are mandatory?

There are 3 correct answers for this question.

A. Application ID

B. OData service

C. ICF path

D. Component ID

E. Application type

ANSWER: A C D 
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